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ENGLISH VERSION

Instructions :

(1) Write answers all of questions in main answer sheet.

(2) Figures to right side indicate marks of question.

Discuss in detail the characteristics of an developing
economy with reference to India.

OR
Describe the effects of population growth on economic
development.

Describe the low productivity's reasons in agriculture
sector in India.

OR
Discuss the importance of development of agriculture
sector in reference to economical development in India.

Describe the remedies for increasing agriculture
productivity in India.
OR

Discuss the reasons for rapid population growth in India.

Discuss the factors determining the agricultural
productivity.

OR
Evaluate the population policy of government of India.

Write short answers : (any two)
(1) Word Trade Organization (W.T.O.)
(2) The qualitative problem of population

3) Relation of WTO with India
(4) Causes of low human development index in India.
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